
連立方程式の計算 ３Ａ 

◆次の連立方程式を解きなさい。 

①
2 5 13

3 4 8

x y

x y

− =

+ =





 

 

 

 

 

 

 

 

 

 

 

 

 

②
2 5 1

7 2 23

x y

x y

+ =

− =





 

③
− + =

+ =





4 5 12

3 2 14

x y

x y
 

 

 

 

 

 

④
− + =

− =





5 4 3

4 3 5

x y

x y
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



連立方程式の計算 ３Ｂ 

◆次の連立方程式を解きなさい。 

①




=+

=+

832

1143

yx

yx
 

 

 

 

 

 

 

 

 

 

 

 

 

②




=−

=+−

1556

174

yx

yx
 

③




=+

−=−

2632

1243

yx

yx
 

 

 

 

 

 

④




=+

−=−

1573

1952

yx

yx
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



連立方程式の計算 ３Ｃ 

◆次の連立方程式を解きなさい。 

①




=+−

−=−

1343

932

yx

yx
 

 

 

 

 

 

 

 

 

 

 

 

 

②




−=−

=+−

1622

4473

yx

yx  
 

③




=+

=−

3134

223

yx

yx
 

 

 

 

 

 

④




=+

=−

36035

2052

yx

yx
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



解答 

連立方程式の計算３Ａ 

①x＝4、y＝－1  ②x＝3、y＝－1  ③x＝2、y＝2  ④x＝29、y＝37 

 

 

連立方程式の計算３Ｂ 

①x＝1、y＝2  ②x＝5、y＝3  ③x＝4、y＝6  ④x＝－2、y＝3 

 

 

連立方程式の計算３Ｃ 

①




=

−=

1

3

y

x
 ②





=

−=

5

3

y

x
 ③





=

=

5

4

y

x
 ④





=

=

20

60

y

x
 

 

 

 

 

 


